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I, , agree to neither give nor receive any help on this

exam from others. I understand that the use of a calculator or communication device on this
exam is academic misconduct. I also understand that providing answers to questions on this
exam to other students is academic misconduct as is taking or receiving answers to
questions on this exam from other students. Thus, I will cover my answers and not expose
my answers to other students. It is important to me to be a person of integrity and that
means ALL ANSWERS on this exam are my answers. Any violation of these guidelines

will result in a penalty of at least receiving a zero on this exam.

Signed

BINARY CHOICE QUESTIONS (9 QUESTIONS WORTH 2 POINTS EACH)

NeoT 1. Assume that the market for milk is perfectly competitive in Wisconsin and that it is currently in

HARD its long-run equilibrium. A recent study proves that drinking milk reduces the risk of a

cardiovascular disease, so the demand for milk increases permanently. Given this information

and holding everything else constant, what happens to the price of milk in the short run and in

the long run? APt o oy ?4‘»4//:,}4 YA

@ The price of milk increases in the short run, but the price will return to the original long run
equilibrium level over time.

b. The price of milk increases in both the short run and the long rulﬁelative to the initial long

run equilibrium price.

=47 y 2. Consider the market for electricity in Madison. The demand for electricity is relatively inelastic
due to the lack of substitutes available. The price elasticity of supply is 3.1. Given this
information, if the government decides to implement a $5 excise tax on Madison electricity

companies, who will bear more of the economic burden of this excise tax?

S Wty
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a. Producers

@ Consumers




NoT 7ve 3,

BAD

Imagine that you have been hired as the new CEO of Budget Bicycle Center in Madison, W1 and
that you must set up a new sale price for the bicycles. The demand for bicycles is linear and
given by the equation:

Demand: Q4=25-P-0.21
where Q¢ is quantity demanded, P is price, and I is the mean income of households in Madison.
You also know that the old price of the bicycles was maximizing total revenue one year ago, and

that the income of households in Madison has decreased throughout 2016. What should you do

to the sale price of bicycles if you want to maximize total revenue for Budget Blcvc]g Center?
' Increase the price of the bicycles. Y2 I(L Q 1‘ = pifees dnt ,«é” o

lecrease the price of the bicycles.

?, \PL

Molly is an economics student and needs to calculate the real price of a pound of coffee in 2001
using 1995 as the base year. She collects information on the cost of the market basket in 1995
through 2001 and obtains the nominal price of a pound of coffee in 2001. She then calculates
the real price of coffee, using 100 as her scale. After turning in her assignment, the professor
tells her that she understated the market basket cost in 1995. Will her calculated real price
increase or decrease with this adjustment?

@ Increase

b. Decrease
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ER' y . 5. Assess whether the following statement is true or false: “A firm will not choose to produce if the
DEINITIONAL.  price of its product is lower than the average variable cost of producing the product."

@ True.

b. False.

Wiéo){fﬁ-éﬂz‘!'}“z;

(j ouLp 6. Yixi only eats energy bars or bowls of cereal in the morning. Either one bowl of cereal or three

& /Va’}/ﬂbf energy bars will make him equally happy. Assume that the price for one bowl of cereal is 5

Ty E dollars and the price for one energy bar is 2 dollars. Given this information and holding
everything else constant, what will he buy for breakfast this month?

Ca.) Yixi will buy only cereal this month for breakfast. %YI‘WJ{ chott e VAL cheapets
a/Vepnatipe Fince Tha
At

[Prsfe e cuk £ Hr e e

b. Yixi will buy only energy bars this month for breakfast.

G
/Nmf/ﬂgr 7. Consider the market for mushrooms in Japan. The world price is $x for each pound of
@A' TH IV mushrooms. If the market is open to trade, then Japan imports y pounds of mushrooms.

THE However, if an import quota is set at z pounds, the domestic price will be $w per pound. Assume
30;722: A;puz’-that the domestic demand and supply curves are linear, and that x, y, z, and w are all positive
LAS )/ = numbers. Given the above information, the domestic price of mushrooms if the market is closed

7671/1 to trade must be:

HAVE 7THE a ‘Between $x and $w.
JONTEN?- H; 1 Above $w.




£n f}’ P 8. In the following graphs, you are presented with the percentage of total revenue in 2014 and

2015 that was generated by the two main products that a local cafeteria sells: coffee and

You Do
kies.
THE €00
woR /<
Percentage of total revenue, 2014 Percentage of total revenue, 2015
Cookies
25%
4 26240
Total Revenue 2014: $ 1,000 Total Revenue 2015: § 1,050 - 1& Ry,
4 x3
O o
7975

Given all the information presented above, which product had the biggest percentage change
between 2014 and 2015 in terms of revenue, in absolute value?

a. Coffee.

Both products had the same percentage change in revenue when measured in absolute
value.
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J_ usT 9. The Gini coefficient is an index that is used to measure income inequality in a nation. The Gini

ﬂgﬁ’ DIN & coefficient can take the values in the range between 0 and 1. As the value of the Gini coefficient
ﬁ/‘/ ) ANATIO Al increases toward 1, this represents more income inequality in a given country. In the following
EX: # EN scatter plot, the GDP per capita (on the X-axis) is measured in U.S. dollars and the Gini
AND

2 A coefficient (measured on the Y-axis and using a 100 point scale rather than a 1 point scale) in

[NTRre/RE

A GRAPH the year 2010 are graphed as dots for 73 countries. The dotted line in the graph provides a linear

CAN 7, ou relationship indicating the "best fit" for this data if you are describing it with a single linear line.
2

Do THI -

GDP per capita and Gini coefficient for a sample of countries, 2010
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According to the graph, there appears to be:
a. A positive relationship between degree of income inequality and GDP per capita.

A negative relationship between degree of income inequality and GDP per capita.



MULTIPLE CHOICE QUESTIONS (20 QUESTIONS WORTH 4 POINTS EACH)

The following graph depicts Noel’s optimal consumption problem under three different budget
constraints. Initially, his budget constraint was given by BL1. A change in the price of X caused his
budget line to pivot to BL2; his income remained the same. In the diagram, BL stands for budget

lines and IC stands for indifference curve.
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Use the provided graph and information to answer the next TWO (2) questions.

6‘4 J ?/ 10. Moving from BL1 to BL2, the price for good X ,]5‘ . The income effect of the change in
the price of X is captured by the movement from bundles Ch [ E
(f&) decreases; C to B.
b. decreases; A to X
¢. increaség; A to B.

d. increases; Cto B.

ANoT 11. Which of the following statements is false?
/141D a. After the change- in the price of X, Noel achieves a higher level of utility. [ /2V&
b. Bundles B and C were not affordable at the original prices. 77 £
@ Considering only the substitution effect, Noel would consume more of Y and less of X. /4 ¢ (&
d. Considering only the income effect, both X and Y are normal goods for Noel. 77U/ £



Use the following information for the next TWO (2) questions:

Anthony is writing a research paper on consumer spending habits and wants to analyze the price of

a tennis racquet throughout the previous 20 years. Anthony gathered the following information:

Vear — Nomlna;l;l;::z :tf Tennis ;Z; ‘:ﬁ

1996 100 $300 J00

2006 150 $350 %b(!w)’"? 223373
2016 200 $400 490 (100) 2200

NOT HA&7D12. Wll\i.ch of the following statements is true?
Q@/ The real price of a tennis racquet decreased from 2006 to 2016. T—

b. The real price of a tennis racquet increased from 1996 to 2006. F

¢. The real price of a tennis racquet increased from 1996 to 2016. F

d. The real price of a tennis racquet might have increased or decreased depending on the

—_

determination of the base year. [

NoT
(Ao

tennis racquet in 2016 using 2006 as the base year?

13. Suppose you want to use 2006 as the base year in your calculations. What is the real price of a

@Aﬂ £/ 5W‘£ a. The real price of a tennis racquet in 2016 using 2006 as the base year is $200.
b. The real price of a tennis racquet in 2016 using 2006 as the base year is $266.66.

(" c.) The real price of a tennis racquet in 2016 using 2006 as the base year is $300.

d. The real price of a tennis racquet in 2016 using 2006 as the base year is $533.33.
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Use the following information for the next TWO (2) questions:

[JL(,(G- /14, Jake can decide whether to consume pizzas (x) or hamburgers (y). The marginal utility that Jake

CHVG ' receives from consuming pizza and hamburgers is given by the following equations:
REVIE OF;( MUx = 2/x

mEUWITe ,
ﬁ;q worek MUy =1y

Consider that Jake’s income is $72, the price of x is $2 and the price of y is $6. Which of the

following consumption bundles is optimal for Jake?
a. (x¥)=(0,12) /Mux/: /%/
b. (x,¥)=(12, 8) MYy
= Hape 7L 215 Pyl
() % =044 Slype 7)IC = 74 )7

con’s Wﬁw—
d. (x,¥)=(36,0) a 2
T = .
3 -4
/
Q,Jy 15. Jake's income decreases to $48 while the price of x and the price of y are unchanged from the
previous question. Given this information, which of the following consumption bundles (x, y)
can Jake NOT afford? E — A
[’f,{) t)=2(y)
a. (9,5)
(= . %k
b. (5, 6) S = >/
4, 7) [>) =2X
d. (0, 8) 6) = X
& & it ““/G" ¢*
a1 T hxe Y g
; " 72=2x+6Y |
k * |
] (3¢ = x#3Y]

/07 6 7 'béajd’grf
5 A SO e | T EY) 6

a) (9, 5)

p 5 rle. Jg o 36 =Y 36 = ¢ Ye3Y
p) (56) 2 Le) HELR A 36 =Y
_ &= Y :(2‘/‘1‘)
= 1)+ 26)= gr 72 =50 2 (X,)’) ’
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Use the following information for the next TWO (2) questions:

In an attempt to reduce the number of trees cut down in Dane, Wisconsin the local government has
proposed the implementation of an excise tax on paper. The market demand and market supply for

paper are given by the following equations, where SPTiS the price of a ream of paper and Q is the
bo -@ =L@
¢c = 7
L= @
p=2(20)="0 £
£ -

NGT 44,0 16. If the proposed excise tax is $6, what is the new value of consumer surplus after the imposition
of this excise tax? éijq‘— q = Yo +£ /3y

quantity:
Demand: P=60-Q

Supply: P=2Q

. $150 7
:. §162 /5;'/7@ Jor
c. $184 _é;f{” p
d. $324 - -

5 ‘f,:(éo—ﬁ)(/?) |

NO ¥ H ,41’20 17. Instead of specifying the excise tax amount, suppose now that the policy calls for an excise tax
that will reduce the consumption of paper to 15 reams. What is the size of the excise tax

required to reach this consumption goal?

a. $6 per ream of paper

b. §8 per ream of paper

T oy
c. $11 per ream of paper T
@15 per ream of paper P{ —/(j?‘f) "[U
Purf = B> A
i @=1¢ b
DD Pebo~IS=45 (S
=) P 2(15) =70
F@T—fﬁm - W¢ﬁ1¢
HY 30 = ﬁfi/S’/U,&f: ﬂ'""ZL‘g fay
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bo-@= LQFI§ ke
45= 34
Zerd = @ R

Use the following information for the next THREE (3) questions{ 5;
{

10 1) bd

Consider the market of soy beans in the U.S. The world price of soy beans is $10. The domestic

demand and supply curves are given as follows, where Q is the number of units of soy beans and P

_ L
is the price per unit: | l{“’/ﬁ#‘%"'& 5 ?«[éd"aj(ﬂ)
. j
Domestic demand: P=60-Q ¥ o ©Xs2)
: = 2822 - /870
Domestic supply: P=12Q+15 7z
Lo- p-1v
Some 18. Which of the following statements is true?

woric o1 a. Total surplus with free trade in this economy is equal to $2,500. A = # ]250
IF yo

b. The government tariff revenue will be equal to $375 if the government implements a tariff

NDEXSTAND o o en
g INCEPTS of $25 per unit of soy beans in this economy. . ‘ﬁé;fg W,( V%;M a 6/647 "
f:ﬂ e ,‘/ c. A tariff of $5 on soy bean imports will not cause any deadweight loss in the domestic soy
EASY  beanmarket, LWTE Sure oma Dot

‘ \CD A subsidy of $5 per unit of soybeans to domestic producers in this market will not cause
any deadweight loss in the domestic soy bean market. 7 Feee

No 7 770 19. The government imposes a tariff to restrict the amount of imports to 15 units of soy beans. How

/3 AD much is the government tariff revenue when this policy is implemented? i R'e @-’) ﬁ’ -
" 50 ar-@t=15 - ey gD
b. $150 @04’) ~(2p-30)7/S C?,)fm. = ¢0 /?-_9 Mzﬁ/
(&) 8225 fo - 3P=15 @ Bon = 35 pJo 1 mPo<TT
d. $375 sz,;_,;f P K35 /é/ﬁc./7ﬂ?°

4 W st
f,{,ﬁﬁ(@, é:‘é%a) (/5’}: 228 £ A/071ﬂ,r,37/gy~cnu-c /{

iz?t %DQ{— 20. Unexpected bad weather in Aftrica and Japan cause the world price of soy beans to rise to $75.

Given this statement and assuming the initial situation, which of the following statements is

false? . _
§ % a. U.S. will now export 120 units of soy beans to the rest of the world. 772 &
t b. Total surplus in the domestic soy bean market will increase to $3,600. 772 ve
c. The implementation of a tariff of $15 on soy bean imports will not cause any deadweight
loss in the domestic soy bean market. m vE

@A subsidy of $15 per unit to local producers will not cauae any deadweight loss in the
~domestic soy bean market. Fﬁ Lse ’11_2‘ o ‘

14
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g/%f)/ - 21. An economic analyst has concluded that the cross-price elasticity of good X with respectto Y is
Q EFIMI TIONAL 0.5 and that the income ye/l_asticity of good X is 1.5. Then, the analyst can conclude that:
@ X is a normal good, and X and Y are substitutes.'// “~ xy 20 - 2 /,‘
b. X is an inferior gool, and X and Y are substitutes. 4 ly . f}? e o Gani

‘7 att
d. X s an inferior good, and X and Y are complements. & r g a8 5
1 .
a T 7,0 % /
X ¢ nrmat

A FVA/ 22. Liam always consumes shoes in pairs (left shoes and right shoes are perfect complements in

c. Xis anormal good, and X and Y are complernentse<

/
ONE " consumption for him) and in Liam's world all the pairs of shoes are the same style. Liam has
recently inherited 2 left shoes from his one-legged uncle. Assume the unit price for left shoes is
$6, while the unit price for right shoes is $2. If his budget for shoes is $12, which of the

following bundles is an optimal purchase plan for Liam?

a. 2 left shoes. ,{}W har 2 [ ot —
b. 6 right shoes. -‘ Deke taF By ety 21O e

@ 3 right shoes and 1 left shoe. —Deoer ¥

d. 2 right shoes and 2 left shoes. /{Té/LM Y d 2 Aven —> Ae cae
by [ L Y% e neene £

D '3 R Shoe., ! L Thoe

23. A shoe factory has a total cost function given by the following equation:

fomé ;
THOUGHT TC = 5q2 + 4q
NeT 729 where q represents the number of shoes produced in the factory. Assume that partial units of

pairs of shoes can be produced.

/340D

The only input of production is labor, and the wage of each worker is $7. Using this information

and the total cost function, how many workers does the factory need to produce 2 shoes?
a. 2 workers

b. 3 workers

@ 4 workers

d. There is not enough information provided to solve this question.

.9 = I~ 5(2)*+ ¥
j s(H+ ¥

= A¥ |
S0 f 7C=2F peok wonbize cotft TF =
/

5 /,/y,-;. /wl«ed %m/@z&”f 16
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' Use the following information for the next THREE (3) questions:

The following graph presents the MC, ATC, and AVC curves of a factory that produces shirts in a

perfectly competitive market.

MC

S 7 shirt A ATC
AVC
7
3
N
2 8 10 12 >Q
ﬂ'f 7 ; 24. The current price of shirts is $7. Which is the optimal production of shirts in the short run?
JERDIN 6 a. 2 shirts
7/1e (_bD 8 shirts
M/ﬁ%ﬁf‘ c. 10 shirts
d. 12 shirts
N")?ﬁ 25. The price of shirts is still $7. What will happen to the price, to the number of firms in the
/'f ArZD industry, and to the individual production of each firm in the long run compared to the short
run?

a. The price of shu‘é“ the number of firms in the industry and the individual production of
each firm will mcreasé'(
b. The price of shirts will not changé, the number of firms in the indﬁstry will increase and the
individual production of each firm will decrease. | |
c. The price of shirts will not chancrexthe number of ﬁrms in the mdustry will decrease and the
B mleldual production of each firm will increase.
f;dDThe price of shirts and the individual production of each firm will decrease, while the
v

number of firms in the industry will increase.

//Lgb& Z,,/gcj QUZ/ ’#"77(’74}7”"
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$92
c. $96

26. Using the graph, what are the total costs of the firm at Q = 12?
a. $84

d. There is not enough information provided to answer this question.

At @=12
TCz FCrve
T ¥ i2f¥)
wrrC=Fr §<

\1
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2 27. Fill in the blanks in the following statements with the appropriate words. Note that your answer
Noi H A7 Al

to (i) must be the same for each of the blanks with this designation.

Consider the market for coffee in a closed, small country where the domestic price of coffee is

lower than the world price of coffee. Suppose that the country opens to trade. Then, the country

(i) 5 E‘[;, A coffee. If the government of the country imposes a quota to reduce the amount of

i £ g';g/’n , the producer surplus will (ii) v compared to the case without the

quota.

a. (i) impmké; (i1) increase
b. (i) imports; (ii) decrease
c. (i) exports; (ii) increase

d. ) (i) exports; (ii) decrease‘/

l \ . } [P X7
- - ’ awnid
\ " '/ p

/\\¢DI)W

/ F)/au.d/?’ A/28. The arc-elasticity between points X and Y on a demand curve is equal to 2. Suppose that you
ELymN ATE know that point X is (Q, P) = (20, 20). Which of the following points may be point Y?

(4), Wf” 2 (QP)=(410) “;?2’7,",‘;)(
7! b. (Q,P)=(40, 10)

No T . B
/ c)(Q, P) = (4, 40)
LD,
A d. (Q,P)=(10, 100)
()7 You
[ oW of demand is equal to 2.
THE a. (Q,P)=(7.5,1125)

fan mveA, @(Q,P)=(10,10)
TV 15 c. (Q.P)=(15,7.5)

NeT d. (Q,P)=(20,5)
lHA7ZL

4 = Cpl ~ &,
4)2.#@/
/L”//

ﬂ/’f’/

29. Find the point (Q, P) in the linear demand curve given by Q = 30 — 2P where the point elasticity

pomt € 7 [:?{ij[% ]

H=%-27

= 3o ~d
"piiste [ﬁ/

/AO'M‘@); AT ’—Z‘T & |

END OF THE EXAM ic
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